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Instruu:tions:
l). All questions ar"e compulsory.
2). Figures to the right indicate full marks'
3). Ansr.l,ers to the fwo sections must be r.l'ritten in separate answel books'

4). Assume suitable date if necessary'
5). Assr-rrne system frequency 11.0592 MHz'

SECTION _ I

Q-1). ,4.ttempt All.

tA] Write two different programs ro tr.ransfer data contained in registers Rzl to R7 of register

bank 1 to R0 to R3 of register trank 3 respectrvely using lbllowing tr'r'o methods'
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{i) irusFl & PoP (ii) xcFi

Its1 Program timer 1 to be an event counter. Use mode 1 ancl displa.v the binar,v- count

on P2 & P3 pofts continucrisi)'' Set ihc inilial count to 2t)000'

OR
rJ-l l .  Attempt :r l l .

l.A] Write a prograni icr trnd the odcl anil even numbers fi'om ten nutnirers rvhich are stored

from rnemcry locatiorrs 4liH & oiiwarcls. Store the odcl and even nuinbers on external

I{AN4 locittions 0100FI & 0101}{ respectively.

iB] Write a program to transfer the nressage "lr{lCRO" seriaily at 9{100 baLrcl, 8 bit data,
1  - r ^ , -  L i +  - - - ^ - r ; , . , , , r , ' - l ' ,
I  b L u l J  L r l l .  L U l l i l l l L l u L r J j . )  '

O-2). Attcmpt all.
tAl (i) Write a program 1o add BCD 254915Fi to 836593H and save the BCD result in

RAM memory locations starting at 55H.
(ii) Find the time delay for the follor.ving subroutine, assuming a orystal frequency

of 16 MHz.
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tB] Generate the follor*ing u'aveform on P1.Q.use timer 0 in mode 2.
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MOV Rl , #50
AGAIN: MOV R5 , #30

I{ERE: NOP
NOP
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Q-2). Attempt all.
tA] The below given clata are stored in intemal RAM locations starting from 50H' Store l05l

The first two memor;r locations which contains consecutive numbers in RAM locations

20H & 2rH.

DATA: 25H, 67Ff,34H- 19F{, 1AII. 7CIf, 5FH, 84H, 85ir 81 9uij

(i) Store the contents of RAM location 40FI at the address contained in RAM location

l8H .
(ii) Write a program to copy a block of 10 bytes of data from RAM locations starttng

at 35H to RAM locations starting at 60H.

Q-3). Attempt all.
tAl Swap the bit 0 & 1,2 &'3,4 8.5,6 &' 7 of register R5'

tB] (i) F'ind register A contents after each of the following is executed'
MOV A, # 56H
SWAP A
RRA
RLA
SWAP A

(ii) The fbllou'ing are bit acldresses. indicate where each one belongs.
(a) 67H (b) B5H

tC] Convert the hex number storecl in 55H memory location to decimal number and stored in

Ports P0, ttl 81P2.
SECTION - Ii

Q-4). Attempt all.

tAl Drar,v and explain SCON antl PCON rcgisters of 8051.

lB] llow tlie pulses are given when the timer is uscd as a coutrter'l

tC] Explain difference between SWAP & XCH instruction i,r'ith example.

OR

Q-4). Attempt all.

tAl (i) Explain PSW register.
(ii) Explain MUL instruction.

tB] Wfrut is a direct addressing mode in 8051? I)iscuss advantages of this mode.

tcl When the OV flag set? Explain with examples.
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;i,j Q-5)" AtternPt all'

ili* 
iA] Explain difl-erence Lretween intenupt & polling. Also explain Interrupl sen'ice routine' I{}sJ

[B] Draw the pin diagram of the 8051 microcontroiler. Explain the function of EA, AL]i, [06]
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T0 & RXD pin.
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OR
Q-5). Attempt al l .

"', iA] Write shorl note on LCD interfacing rvith the 8051 rvith necessary diagram. I{}31

- 
tB] Explain the interrral RAM organization oi'8051 microcorttrclie;. I0?l

LC] Fiow Por10 pins serves as inputs, outputs or as a bidirectionai iow-orcier address anci [06i
data bus (AD0 to AD?)? Explain vu'ith necessary diagrarn.

;,,;: Q-6). Attempt all. Il21
tAl Explain IE & IP registers.

lB] Why do rrye need serial communicarion port in 8051? Explain different methods for
the serial communication process.

tcl (i) Show how the 8051 would represent -34t1.
(ii) Difference between LJMP & SJMP instruction
(ii i) 67H in BCII when converled to ASCU is._,1{ &.,__ _FL
(irr)Wtite down ali interrupts according to their priority ir"., i.

END OF PAPNR
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